3 (Sem—4/CBCS) ECO HC 2

Paper : ECO-HC-4026
( Intermediate Macroeconomics—II )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
Belqd PRI e fran -
(a) What is fixed investment?

= Rffcs &2

(p) What is government debt?
sqial 4 2
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(2)

(c) What is effective demand?

e wifdm 3 2

{d) What is consumption function?

st o1 = 2

(e} Who provided the Rat;
ational Expectati
hypothesis? P -

AT arepy
& ) EERICE I oG e ot

() What is neutral technical progress?

e eReore waaf f 9

(g) “Central bank of a country formulates
monetary policy.” Is it true or false?

9T R RN @ AT W e
FEN G O] G+ wpyey 9

(h) Who propounded
end
model? ogenous growth

e RIPR S et Bwra w2
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2. Answer the following questions :

(3)

(i) Name one new-classical economist.

G T-eEre SefeRm w foran |

() Mention one limitation of Solow model.

v w13 9B MRz Seag 91 1
2x5=10

TR 2P Ul fid -
(@) What is meant by liquidity trap?
wRen %1 e 6 @i

Mention two limitations of classical
theory.
SegifPre @gd o1 NSl SEd 791 |

Define golden rule of Solow model.

5'a w3 coreral Aot s fors |

(d) What is Ricardian equivalence?

Reprome sae 52

() Mention two elements of endogenous
growth.
e MR 7o SAMH SrEy 4 |
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(4)

3. Answer any four from the following

questions : 5x4=20
o PR °R1 R @At 5iReR Tew R
(@) Explain the basic features of new-

(b)

(c)

(@)

(e)
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classical school of macroeconomic
thought.

SRR SAAST SRIRR - (al5a
(Nfer CaPEPTR s 1 |

Explain the objectives of monetary
policy.

Y e cafiEpmz mm < |

Explain the budget constraints of the
government.

SIPR JACHHI 4PRE 377471 3497 |

Explain various motives of demand for
money as indicated by Keynes.

;szﬁ'mﬁsaarqaﬁ'ﬂﬁ?rvﬁ%ﬁﬁm$§m‘mwm

EIXPIain the dissimilarities between
arrod and Domar growth models.

S W TR R e TEA LT
G |

( Continued )

1)

4. Answer the following questions :

(S)

Discuss various determinants of
business fixed investment.
N &3 RiNcsR MRz S 41 |

10x4=40

o 2T e -

(@)

(b)
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Critically discuss the Solow model of
economic growth.

P’y wftafes  Rerm SRl SHwEmn
SRR S 41 |

Or / 9[1

Discuss the instability of growth process
of Harrod-Domar models. :

@T-TIR W3S wF [ i seErsn
91

Critically  discuss the life-cycle
hypothesis of consumption function.

o1l IR EET-5F S!S FZFICI
A T4 |
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(6) S

Or / ST
Or / o341

Discuss the relationship between

Critically discuss Fisher’s theory of technological progress and elements of

optimal intertemporal choice.

10 -
endogenous growth.
RPRRE I S RE 79 OG0l
. cffere WA W wEEMe  vRar
STRPICT SCEAGAT 41 | s
AT A&4 ST S0 < |

(¢ What is meant by random walk of

consumption expenditure? Discuss X ook

various factors determining con- )

sumption function. 3+7=10" -

L
SRS ol 5 5 e R gon 2 o o &
e w1 fRifSm Sommcar sgemen w41 |
Or / 5247

Discuss the main features of Keynesian

economics.

REpH ERAR  wdAr  smeEm 7=

CARETIR SITCeTe <51 |

(d) What are the main targets of monetary
policy? Discuss the rule versus
discretion of monetary policy of g
country. 4+6=10

cﬁﬁw%ﬁmﬁsﬁwmm
@W%ﬁwm?&wﬁmw
il
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